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(A FnafE4 A 47)
1 H AOE K = A R AR O R S =
4 A CO YA 7o GRS GIRESN: !

e $ofitke $oitkg || BdE(Akg WA\ k| $EBke  [fTHE%| HECke | A/C% | RIAKEDkKe | A/D% | REHEEEkKe | B/E%
BARRAE A A 305,860.0 305,860.0| 1 293,590.0| 96.0 | 1 293,590.0| 96.0 318,060.0| 92.3 388,460.0| 75.6 388,460.0 75.6
A= AN A 42,080.0 42,080.0( 2 42,080.0 100.0 | 2 42,080.0( 100.0 42,060.0( 100.0 42,040.0| 100.1 42,040.0{ 100.1
BRI 11 (BE) 2,523,856.0| 2,523,856.0| 2 | 2,047,940.0| 81.1 | 2 | 2,047,940.0| 81.1 | 1,772,120.0| 115.6 | 2,354,550.0| 87.0 2,354,550.0| 87.0
RERREIMET Ao 1 () 0.0 0.0] 0 0.0 0.0 [0 0.0] 0.0 0.0] 0.0 0.0 0.0 0.0 0.0
BRI = A  (H) 0.0 0.0] 0 0.0 0.0 [0 0.0] 0.0 0.0] 0.0 0.0 0.0 0.0 0.0

& & 2,871,796.0| 2,871,796.0] 5 | 2,383,610.0| 83.0 | 5| 2,383,610.0] 83.0 | 2,132,240.0| 111.8 | 2,785,050.0| 85.6 2,785,050.0| 85.6
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& # Htkg Hifikg ) HEWke  |[WEFE% || EHEBke  |KAFE%|  EHEOke | A/C% | [FA¥EDks | A/D% | RiFHHEEks | B/E%
AR PET= A 281,520.0 587,380.0( 0 243,350.0( 86.4 1 536,940.0f 91.4 293,590.0( 82.9 341,760.0( 71.2 730,220.01 73.5
N—ANRAEYET A0 B 41,060.0 83,140.0|] 2 41,060.0] 100.0 | 4 83,140.0| 100.0 42,080.0]1 97.6 46,040.0]1 89.2 88,080.0| 94.4
RokAE =R () 2,203,002.0( 4,726,858.0( 1 1,872,290.0] 85.0 3 3,920,230.0{ 82.9 2,047,940.0] 91.4 1,948,160.0] 96.1 4,302,710.0] 91.1
RO A8 () 0.0 0.0] 0 0.0 0.0 0 0.0] 0.0 0.0 0.0 0.0 0.0 0.0l 0.0
MEHER - A B (1) 0.0 0.0 0 0.0 0.0 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
& Bt 2,525,582.0|1 5,397,378.0( 3 2,156,700.0f 85.4 | 8 4,540,310.0( 84.1 2,383,610.0f 90.5 2,335,960.0f 92.3 5,121,010.0f 88.7
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1 H AOE K = A R AR O R S =
4 A CO YA 7o GRS GIRESN: !

e $ofitke $oitkg || BdE(Akg WA\ k| $EBke  [fTHE%| HECke | A/C% | RIAKEDkKe | A/D% | REHEEEkKe | B/E%
BARRAE A A 303,023.0 890,403.0| 1 265,450.0| 87.6 | 2 802,390.0| 90.1 243,350.0| 109.1 304,530.0[ 87.2 1,034,750.0| 77.5
A= AN A 43,040.0 126,180.0| 2 43,040.0 100.0 | 6 126,180.0| 100.0 41,060.0( 104.8 27,060.0| 159.1 115,140.0| 109.6
BRI 11 (BE) 2,517,061.0] 7,243,919.0| 2 | 1,841,240.0{ 73.2 | 5| 5,761,470.0| 79.5 | 1,872,290.0| 98.3 1,844,730.0[ 99.8 6,147,440.0| 93.7
RERREIMET Ao 1 () 0.0 0.0] 0 0.0 0.0 [0 0.0] 0.0 0.0] 0.0 0.0 0.0 0.0 0.0
BRI = A  (H) 0.0 0.0] 0 0.0 0.0 [0 0.0] 0.0 0.0] 0.0 0.0 0.0 0.0 0.0

& & 2,863,124.0|  8,260,502.0| 5 | 2,149,730.0| 75.1 | 13| 6,690,040.0| 81.0 | 2,156,700.0| 99.7 2,176,320.0| 98.8 7,297,330.0| 91.7
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1 H AOE K = A R AR O R S =
4 A CO YA 7o GRS GIRESN: !

e $ofitke $oitkg || BdE(Akg WA\ k| $EBke  [fTHE%| HECke | A/C% | RIAKEDkKe | A/D% | REHEEEkKe | B/E%
BARRAE A A 271,990.0| 1,162,393.0 0 219,040.0| 80.5 | 2 | 1,021,430.0| 87.9 265,450.0| 82.5 308,040.0[ 71.1 1,342,790.0| 76.1
A= AN A 40,000.0 166,180.0 2 40,000.0 100.0 | 8 166,180.0| 100.0 43,040.0| 92.9 41,120.0| 97.3 156,260.0| 106.3
BRI 11 (BE) 2,405,576.0|  9,649,495.0| 2 | 1,904,620.0| 79.2 | 7 | 7,666,090.0| 79.4 | 1,841,240.0| 103.4 | 1,902,310.0| 100.1 | 8,049,750.0| 95.2
RERREIMET Ao 1 () 0.0 0.0] 0 0.0 0.0 [0 0.0] 0.0 0.0] 0.0 0.0 0.0 0.0 0.0
BRI = A  (H) 0.0 0.0] 0 0.0 0.0 [0 0.0] 0.0 0.0] 0.0 0.0 0.0 0.0 0.0

& & 2,717,566.0| 10,978,068.0| 4 | 2,163,660.0| 79.6 | 17| 8,853,700.0| 80.6 | 2,149,730.0| 100.6 | 2,251,470.0| 96.1 9,548,800.0 92.7
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1 H AOE K = A R AR O R S =
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e ¥ fikkg ¥ fikkg i(Wkg  |HATR% || HE@ke  |HAR%| BEOks | A/C% | AAKEDke | A/D% | REHEDBKe | B/E%
BARRAE A A 391,210.0|  1,553,603.0 357,520.0| 91.4 | 3 | 1,378,950.0| 88.8 219,040.0| 163.2 331,990.0 107.7 | 1,674,780.0| 82.3
A= AN A 40,000.0 206,180.0 40,000.0{ 100.0 | 10 206,180.0| 100.0 40,000.0{ 100.0 41,060.0| 97.4 197,320.0| 104.5
BRI 11 (BE) 2,381,766.0| 12,031,261.0 1,919,260.0| 80.6 | 8 | 9,585,350.0| 79.7 | 1,904,620.0| 100.8 | 1,640,200.0| 117.0 | 9,689,950.0| 98.9
RERREIMET Ao 1 () 0.0 0.0 0.0 0.0 [0 0.0] 0.0 0.0] 0.0 0.0 0.0 0.0 0.0
BRI = A  (H) 0.0 0.0 0.0 0.0 [0 0.0] 0.0 0.0] 0.0 0.0 0.0 0.0 0.0

& & 2,812,976.0| 13,791,044.0 2,316,780.0| 82.4 | 21| 11,170,480.0| 81.0 | 2,163,660.0| 107.1 | 2,013,250.0| 115.1 | 11,562,050.0| 96.6
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1 H AOE K = A R AR O R S =
4 A CO YA 7o GRS GIRESN: !

e $ofitke $oitkg || BdE(Akg WA\ k| $EBke  [fTHE%| HECke | A/C% | RIAKEDkKe | A/D% | REHEEEkKe | B/E%
BARRAE A A 330,210.0| 1,883,813.0| 0 318,460.0| 96.4 | 3 | 1,697,410.0| 90.1 357,520.0| 89.1 361,460.0 88.1 2,036,240.0| 83.4
A= AN A 41,040.0 247,220.0| 2 41,040.0{ 100.0 | 12 247,220.0| 100.0 40,000.0{ 102.6 33,080.0( 124.1 230,400.0| 107.3
BRI 11 (BE) 2,552,670.0| 14,583,931.0| 2 | 1,984,350.0| 77.7 | 10| 11,569,700.0| 79.3 | 1,919,260.0| 103.4 | 2,072,560.0| 95.7 | 11,762,510.0| 98.4
RERREIMET Ao 1 () 0.0 0.0] 0 0.0 0.0 [0 0.0] 0.0 0.0] 0.0 0.0 0.0 0.0 0.0
BRI = A  (H) 0.0 0.0] 0 0.0 0.0 [0 0.0] 0.0 0.0] 0.0 0.0 0.0 0.0 0.0

& & 2,923,920.0| 16,714,964.0| 4 | 2,343,850.0| 80.2 | 25| 13,514,330.0| 80.9 | 2,316,780.0| 101.2 | 2,467,100.0| 95.0 | 14,029,150.0| 96.3
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1 H AOE K = A R AR O R S =
4 A CO YA 7o GRS GIRESN: !

e $ofitke $oitkg || BdE(Akg WA\ k| $EBke  [fTHE%| HECke | A/C% | RIAKEDkKe | A/D% | REHEEEkKe | B/E%
BARRAE A A 453,500.0| 2,337,313.0] 1 388,450.0| 85.7 | 4 | 2,085,860.0| 89.2 318,460.0| 122.0 378,390.0 102.7 | 2,414,630.0| 86.4
A= AN A 43,100.0 290,320.0| 2 43,100.0{ 100.0 | 14 290,320.0| 100.0 41,040.0{ 105.0 32,060.0| 134.4 262,460.0| 110.6
BRI 11 (BE) 2,343,881.0| 16,927,812.0| 2 | 1,897,600.0{ 81.0 | 12| 13,467,300.0| 79.6 | 1,984,350.0| 95.6 1,777,640.0| 106.7 | 13,540,150.0| 99.5
RERREIMET Ao 1 () 0.0 0.0] 0 0.0 0.0 [0 0.0] 0.0 0.0] 0.0 0.0 0.0 0.0 0.0
BRI = A  (H) 0.0 0.0] 0 0.0 0.0 [0 0.0] 0.0 0.0] 0.0 0.0 0.0 0.0 0.0

& & 2,840,481.0 19,555,445.0] 5 | 2,329,150.0| 82.0 | 30| 15,843,480.0| 81.0 | 2,343,850.0| 99.4 2,188,090.0| 106.4 | 16,217,240.0| 97.7
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1 H AOE K = A R AR O R S =
4 A CO YA 7o GRS GIRESN: !

e $ofitke $oitkg || BdE(Akg WA\ k| $EBke  [fTHE%| HECke | A/C% | RIAKEDkKe | A/D% | REHEEEkKe | B/E%
BARRAE A A 56,960.0| 2,394,273.0| 0 56,960.0| 100.0 | 4 | 2,142,820.0| 89.5 388,450.0| 14.7 300,450.0[ 19.0 2,715,080.0| 78.9
A= AN A 39,140.0 329,460.0| 2 39,140.0| 100.0 | 16 329,460.0| 100.0 43,100.0{ 90.8 52,080.0| 75.2 314,540.0| 104.7
BRI 11 (BE) 2,646,354.0| 19,574,166.0| 1 | 1,972,270.0| 74.5 | 13| 15,439,570.0| 78.9 | 1,897,600.0| 103.9 | 1,842,420.0 107.0 | 15,382,570.0| 100.4
RERREIMET Ao 1 () 0.0 0.0] 0 0.0 0.0 [0 0.0] 0.0 0.0] 0.0 0.0 0.0 0.0 0.0
BRI = A  (H) 0.0 0.0] 0 0.0 0.0 [0 0.0] 0.0 0.0] 0.0 0.0 0.0 0.0 0.0

& & 2,742,454.0| 22,297,899.0| 3 | 2,068,370.0| 75.4 | 33| 17,911,850.0| 80.3 | 2,329,150.0| 88.8 2,194,950.0| 94.2 | 18,412,190.0| 97.3
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(B Fn4fE12 A 53)
1 H AOE K = A R AR O R S =
4 A CO YA 7o GRS GIRESN: !
e $ofitke $oitkg || BdE(Akg WA\ k| $EBke  [fTHE%| HECke | A/C% | RIAKEDkKe | A/D% | REHEEEkKe | B/E%
BARRAE A A 318,930.0| 2,713,203.0] 1 304,690.0| 95.5 | 5 | 2,447,510.0| 90.2 56,960.0| 534.9 267,730.0[ 113.8 | 2,982,810.0| 82.1
A= AN A 12,020.0 341,480.0| 1 12,020.0| 100.0 | 17 341,480.0| 100.0 39,140.0 30.7 20,000.0| 60.1 334,540.0| 102.1
BRI 11 (BE) 2,714,362.0| 22,288,528.0| 2 | 2,159,080.0| 79.5 | 15| 17,598,650.0| 79.0 | 1,972,270.0| 109.5 | 2,075,440.0| 104.0 | 17,458,010.0| 100.8
RERREIMET Ao 1 () 0.0 0.0] 0 0.0 0.0 [0 0.0] 0.0 0.0] 0.0 0.0 0.0 0.0 0.0
BRI = A  (H) 0.0 0.0] 0 0.0 0.0 [0 0.0] 0.0 0.0] 0.0 0.0 0.0 0.0 0.0
& & 3,045,312.0 25,343,211.0| 4 | 2,475,790.0| 81.3 | 37| 20,387,640.0| 80.4 | 2,068,370.0| 119.7 | 2,363,170.0| 104.8 | 20,775,360.0| 98.1
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(Fn54E1 A %))
1 H AOE K = A R AR O R S =
4 A CO YA 7o w A B4 A OA

e ¥ fikkg ¥ fikkg i(Wkg  |HATR% || HE@ke  |HAR%| BEOks | A/C% | AAKEDke | A/D% | REHEDBKe | B/E%
BARRAE A A 379,500.0|  3,092,703.0 367,590.0] 96.9 | 5 | 2,815,100.0| 91.0 304,690.0| 120.6 114,380.0| 321.4 | 3,097,190.0| 90.9
A= AN A 32,060.0 373,540.0 32,060.0| 100.0 | 19 373,540.0| 100.0 12,020.0| 266.7 22,040.0| 145.5 356,580.0| 104.8
BRI 11 (BE) 1,855,484.0| 24,144,012.0 1,526,270.0| 82.3 | 17| 19,124,920.0| 79.2 | 2,159,080.0| 70.7 2,073,080.0| 73.6 | 19,531,090.0| 97.9
RERREIMET Ao 1 () 0.0 0.0 0.0 0.0 [0 0.0] 0.0 0.0] 0.0 0.0 0.0 0.0 0.0
BRI = A  (H) 0.0 0.0 0.0 0.0 [0 0.0] 0.0 0.0] 0.0 0.0 0.0 0.0 0.0

& & 2,267,044.0| 27,610,255.0 1,925,920.0| 85.0 | 41| 22,313,560.0| 80.8 | 2,475,790.0| 77.8 2,209,500.0| 87.2 | 22,984,860.0| 97.1
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1 H AOE K = A R AR O R S =
4 A CO YA 7o GRS GIRESN: !

e $ofitke $oitkg || BdE(Akg WA\ k| $EBke  [fTHE%| HECke | A/C% | RIAKEDkKe | A/D% | REHEEEkKe | B/E%
BARRAE A A 300,570.0| 3,393,273.0| 1 300,570.0| 100.0 | 6 | 3,115,670.0| 91.8 367,590.0| 81.8 328,480.0[ 91.5 3,425,670.0| 91.0
A= AN A 51,080.0 424,620.0 2 51,080.0| 100.0 | 21 424,620.0| 100.0 32,060.0| 159.3 40,000.0{ 127.7 396,580.0| 107.1
BRI 11 (BE) 2,682,024.0| 26,826,036.0| 1 | 2,147,120.0{ 80.1 | 18| 21,272,040.0| 79.3 | 1,526,270.0| 140.7 | 2,054,070.0| 104.5 | 21,585,160.0| 98.5
RERREIMET Ao 1 () 0.0 0.0] 0 0.0 0.0 [0 0.0] 0.0 0.0] 0.0 0.0 0.0 0.0 0.0
BRI = A  (H) 0.0 0.0] 0 0.0 0.0 [0 0.0] 0.0 0.0] 0.0 0.0 0.0 0.0 0.0

& & 3,033,674.0| 30,643,929.0| 4 | 2,498,770.0| 82.4 | 45| 24,812,330.0| 81.0 | 1,925,920.0| 129.7 | 2,422,550.0| 103.1 | 25,407,410.0| 97.7
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1 H AOE K = A R AR O R S =
4 A CO YA 7o w A B4 A OA

e ¥ fikkg ¥ fikkg i(Wkg  |HATR% || HE@ke  |HAR%| BEOks | A/C% | AAKEDke | A/D% | REHEDBKe | B/E%
BARRAE A A 401,080.0|  3,794,353.0 345,910.0| 86.2 | 6 | 3,461,580.0| 91.2 300,570.0| 115.1 318,060.0{ 108.8 | 3,743,730.0| 92.5
A= AN A 42,100.0 466,720.0 42,100.0{ 100.0 | 23 466,720.0| 100.0 51,080.0| 82.4 42,060.0| 100.1 438,640.0| 106.4
BRI 11 (BE) 2,570,767.0| 29,396,803.0 2,060,370.0| 80.1 | 20| 23,332,410.0| 79.4 | 2,147,120.0| 96.0 1,772,120.0| 116.3 | 23,357,280.0| 99.9
RERREIMET Ao 1 () 0.0 0.0 0.0 0.0 [0 0.0] 0.0 0.0] 0.0 0.0 0.0 0.0 0.0
BRI = A  (H) 0.0 0.0 0.0 0.0 [0 0.0] 0.0 0.0] 0.0 0.0 0.0 0.0 0.0

& & 3,013,947.0| 33,657,876.0 2,448,380.0| 81.2 | 49| 27,260,710.0| 81.0 | 2,498,770.0[ 98.0 2,132,240.0| 114.8 | 27,539,650.0| 99.0
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